**Original Research** 

Received: 17.09.2022 Published: 15.12.2022 Accepted: 13.12.2022 December 2022• 12(3) • 813-832

# Examination of 21st-Century Skills in Early Childhood in Terms of Different Variables\*

Suat KOL\*\* Hilal İlknur TUNÇELİ\*\*\*

Abstract. It has been argued recently that in order for people to become global citizens, they must be taught 21st-century abilities. It is thought to be crucial that kids learn these abilities in their early years, when growth and learning are occurring at the fastest rates. This is why the study intends to investigate how youngsters between the ages of 5 and 6 differ in terms of their 21st-century competencies. The sample for the study included 45 preschool teachers, and the research was done using a relational survey model. Through the teachers, information on the 21st century skills of 483 students was gathered. A demographic information form and the 21st Century Skills Scale for 5-6-Year-Old Children were used to gather the data (DAY-2). T-test and ANOVA were used to assess the data that were acquired. As a result, it was discovered that the sampled children's 21stcentury talents did not differ significantly based on the number of siblings or the parents' employment status. The gender variable was analyzed, and it was shown that there was a considerable difference in favor of girls. It was shown that the children's 21st-century skills rose along with the parents' education and income levels.

Keywords: 21st-century skills, preschool education, early childhood.

<sup>\*</sup> Ethical approval was obtained from Sakarya University Rectorate Educational Research and Publication Ethics Committee with decision number 04/03 and dated 09.02.2022.

<sup>\*\*</sup> Orcid ID: <u>https://orcid.org/0000-0002-8291-7546</u>, Assoc. Prof. Dr., Department of Pre-School Education, Sakarya University, Türkiye, <u>skol@sakarya.edu.tr</u>

<sup>\*\*\*</sup> Orcid ID: <u>https://orcid.org/0000-0001-5305-5206</u>, Dr., Department of Pre-School Education, Sakarya University, Türkiye, <u>htunceli@sakarya.edu.tr</u>

Kol, S., & Tunçeli, H. İ. (2022). Examination of 21st-Century Skills in Early Childhood in Terms of Different Variables. *Sakarya University Journal of Education*, *12*(3), 813-832. doi: https://doi.org/10.19126/suje.1206194

# **1. INTRODUCTION**

Every country wants to produce a certain kind of person through its educational policy. Planning the traits of this human type should take into account the demands and desires from both domestic and foreign viewpoints. Within these plans, policies relating to education are also updated. In order to raise 21st-century citizens who can meet those demands and carve out a space for themselves, it is imperative to acquire a variety of talents in addition to academic ones. According to Castelss (2010), the 21st century is a time of transformation, and in order to succeed in life, work, and to be a good citizen, people must be able to think critically, solve problems, produce and use information, be open to working cooperatively, and have great communication skills. In literature, these abilities are referred to as 21st-century capabilities. To be a global citizen and be able to keep up with the times, one needs 21st-century abilities. Problem-solving and critical thinking abilities, cooperation, communication, creativity, digital literacy, and social and emotional growth are all components of 21st-century talents. In many nations, there are numerous studies and theoretical frameworks on 21st-century skills. National Assessment of Educational Progress (NAEP), Assessment and Teaching of 21st Century Skills (ATCS21), Partnership for 21st Century Skills (P21), North Central Regional Educational Laboratory's (enGauge), Organization for Economic Co-operation and Development (OECD), American Association of Colleges and Universities (AACU), International Society for Technology in Education (ISTE), Iowa, and Wagner's are a few of these frameworks (Cansoy, 2018; Elci, 2021; Gungor, 2021; Voogt & Roblin, 2010). This study's measurement tool was for P21 skills, hence the P21 framework will be emphasized a lot.

In cooperation with governments and businesses, the Partnership for 21st Century Skills was developed as a framework for the development of the knowledge, expertise, and attitudes required to thrive in business and the 21st century. Three main competencies make up this framework: (1) learning and innovation skills (creativity, innovation, critical thinking, and problem-solving); (2) life and career skills (flexibility, adaptability, initiative, self-management, social and intercultural skills, productivity, and traceability); and (3) information, media, and technology skills (information literacy, media literacy, information, and communication literacy). For professionals to comprehend and adjust to a changing society, they must possess all of these skills (González-Pérez & Ramrez-Montoya, 2022; Partnership for 21st Century Learning, 2007; Ramrez-Montoya et al., 2021).

# Early childhood and 21st-century skills

Early childhood is the best time to build the groundwork for people to pick up these talents because children are naturally curious and ready to learn. The best time to get kids ready for future requirements and problems is in their early years. Children should start developing the critical thinking, imaginative problem-solving, data analysis, and teamwork skills that they will rely on heavily as global citizens as early as possible. The most crucial challenge for parents, educators, and decision-makers is to design learning

opportunities that will foster children's excitement and curiosity while equipping them with the knowledge and abilities they need for the twenty-first century (P21-A Network of Battelle for Kids, 2019; Tugluk & Altin, 2018; Tugluk & Ozkan, 2019).

Initiatives to determine how the objectives, learning-teaching processes, and evaluation approaches should be included in the education programs of schools to acquire these skills, starting from the early childhood period, which is the most important and critical period in the individual's life in terms of development, have gained great importance (Care et al., 2018; Cetin & Cetin, 2021; Ramey, 2016). According to the Ministry of Education's (2013) Preschool Education Program, "In this program, a synthesis was reached by making use of child-centered practices in different learning theories and models to raise the individual needed by the 21st century and to meet national characteristics and needs." 21st-century skills are mentioned in the program. The inclusion of 21st-century skills in educational programs is widespread, not only in Turkey but also in Australia, Belgium, China, Finland, Hong Kong, Ireland, Italy, Norway, Singapore, Japan, New Zealand, Norway, Singapore, and New Zealand.

In early childhood programs, the priority is to provide skills and behaviors rather than transfer knowledge. For this purpose, a rich stimulus learning experience is created for children with many different techniques and activities. During and as a result of these experiences, children acquire skills such as problem-solving, critical thinking, producing and structuring knowledge, creativity, empathy, and cooperation, in other words, 21st-century skills. In addition, there is a need for different methods than traditional methods for the evaluation of 21st-century skills acquired by children. In early childhood, measurement and evaluation are carried out with many different informal methods such as observation, portfolio, development reports, and sociometry, and a process-oriented perspective is adopted instead of a result-oriented perspective. Therefore, the acquisition of 21st-century skills in early childhood is ideal in terms of the appropriateness of both the learning and assessment process (Cetin & Cetin, 2021; Helm & Katz, 2001; Ministry of Education, 2013; Tunceli & Zembat, 2017).

In this context, there is a need to examine the skill levels of children to gain 21st-century skills in the early childhood period in a desired way and determine their strengths/weaknesses and shape the education and training processes accordingly. It is thought that an important step will be taken in reaching the desired human model by determining which variables affect the 21st-century skills of preschool children and eliminating the deficiencies by considering the results.

When the studies on 21st-century skills in early childhood are examined, it is seen that the studies prepared to measure these skills of children are quite limited. Dinler, Simsar, and Yalcin (2021) examined the 21st-century skills of children aged 3-6 years in terms of some variables and found that the variables of parental education and employment status, and family income level made a significant difference in these skills. Elci (2021) examined the relationship between 21st-century skills and competition styles of preschool children and found that these two variables significantly predicted each other.

Gungor (2021) found that there was no significant relationship between self-regulation skills and 21st-century skills of 5- and 6-year-old children attending preschool education institutions. In addition to these studies, there are a limited number of studies that examine the preschool education program in terms of 21st-century skills. In these studies, it is emphasized that the preschool education program is suitable for the acquisition of 21st-century skills and offers a rich learning environment due to its flexible structure. They found that the preschool education program and activity book largely support learning and innovation skills and life and career skills (Costin & Pontual, 2020; Cetin & Cetin, 2021; Kocin & Tugluk, 2020; Tugluk & Ozkan, 2019). In studies examining preschool teachers' views on 21st-century skills, it was found that teachers attach importance to using different methods and techniques (GUnay Manavoglu, 2022); critical thinking tendencies are related to their use of 21st-century skills (Alkoc, 2020); reflective thinking predicts application skills (Egmir & Cengelci, 2020). Since the studies on 21st-century skills for the preschool period are limited, it is thought that any research on the subject will contribute to the literature. Based on this idea, the study aims to examine the 21st-century skills of children aged 5-6 years according to various variables. In line with this purpose, answers to the following questions were sought:

- 1. 1. Do the 21st-century skills of 5-6-year-old children differ according to gender variable?
- 2. 2. Do the 21st-century skills of 5-6-year-old children differ according to the number of siblings variable?
- 3. 3. Do the 21st-century skills of 5-6-year-old children differ according to the variable of mother and father's education?
- 4. Do the 21st-century skills of 5-6-year-old children differ according to the variable of mother and father's employment status?
- 5. Do the 21st-century skills of 5-6-year-old children differ according to the family income level variable?

# 2. METHOD

# **Research model**

The research was conducted with the relational survey model. The relational survey model, one of the general survey model types, is expressed as a research model that aims to determine the presence and/or degree of change between two or more variables (Karasar, 2021).

# Population sample

Children in Turkey who are between the ages of 5 and 6 and are enrolled in preschool make up the study's population. The study used convenient sampling, one of the non-random sampling techniques. Non-random sampling is a sampling technique designed to

start with the easiest to reach individuals and continue until the researcher reaches the group's size (Buyukozturk et al., 2022). In this case, information was gathered from 483 kids through 45 preschool teachers, and 419 kids were included in the study by removing information that was incomplete or inaccurate. Digital data were gathered from a variety of regions of Turkey. Table 1 contains demographic information about the sample group.

### Table 1

Variable		Group	Ν	%
		Girl	245	58.5
Gender		Boy	174	41.5
		No sibling	75	17.9
		1	170	40.6
Number of Sibling	S	2	89	21.2
		3	27	6.4
		≥ 4	58	13.8
	Anne	Primary School	106	25.3
		Secondary School	108	25.8
		High School	98	23.4
Education		University	107	25.5
Luucation		Primary School	61	14.6
	Daha	Secondary School	92	22
	Daba	High School	125	29.8
		University	141	33.7
	<i>.</i>	Unemployed	295	70.4
		Laborer	35	8.4
Employment Status	Mother	Officer	27	6.4
		Shopkeeper	19	4.5
		Other	43	10.3

Demographic information about the sample group.

		Unemployed	3	.7
		Laborer	191	45.6
	Father	Officer	64	14.3
		Shopkeeper	139	33.2
		Other	22	5.2
		≤ 4000 TL	56	13.4
		4001-6000 TL	192	45.8
Family Income		6001-8000 TL	51	12.2
		8001-10000 TL	77	18.4
		≥ 10001 TL	43	10.3
Total		Sample	419	100

# Data collection tool

The Demographic Information Form prepared by the researchers and the 21st Century Skills Scale for 5-6-Year-Old Children (DAY-2) were used as data collection tools in the study. The demographic information form included questions about gender, number of siblings, parents' education and employment status, and income levels.

# 21st Century Skills Scale for 5-6 Year-Old Children (DAY-2)

The scale was developed by Yalcin et al. (2020) and consists of a total of 33 items and 3 sub-dimensions. The scale has a four-point Likert scale; 4=Always, 1=Never. The internal consistency (Cronbach Alpha) values of the scale were calculated as .96 for the Learning and Innovation Skills sub-dimension, .94 for Life and Career Skills, and .92 for Information, Media, and Technology Skills. The internal consistency (Cronbach Alpha) value of the unidimensional version of the scale was calculated as .97. Since these values are higher than .80, it shows that the scale is highly reliable.

# Data collection and analysis

At the meeting on February 9, 2022, with meeting number 4, the ethics committee of the university where the researchers worked approved of the ethical permission before the data collection process could begin. After receiving approval from the ethics committee, an online meeting was organized with the sample of 50 preschool instructors, who were employed in various parts of Turkey. The scale was introduced, the goal of the study was discussed, the instructors were instructed on how to complete the scale form, and the scale form was sent digitally during the meeting with the teachers. 45 teachers completed the forms digitally, recorded them, and gave them to the researchers, compared to five teachers who were unable to gather data due to their busy schedules.

The gathered information was carefully examined and recorded. 419 data were included in the study out of the total 483 gathered, with the incomplete or poorly filled-out data being eliminated. The SPSS 26 program was used to examine the data. After the data were checked for normality and confirmed to be so, frequency, t-test, and ANOVA tests were run and the results were examined. Ethical approval was obtained from Sakarya University Rectorate Educational Research and Publication Ethics Committee with decision number 04/03 and dated 09.02.2022.

# **3. FINDINGS**

Table 2 presents the results of the t-Test for the 21st-century skills of 5-6-year-old children according to gender variable.

# Table 2

+ Toot Dogulto o	f 21 at Contum	, Chille Coole C	anna accordin	a ta l	and an I	Vaniable
t-rest Results o	n z i si centuri	א אראא אראא אוואא א	cores accoram	1 10 (	ienuer	variabie

	Condor	N	v	SD	t-Test			
	Genuer	IN	Λ	30	t	Sd	р	
Learning and Innovation Skills	Girl	245	44.90	8,78	4.32	417	.000*	
	Boy	174	40.93	9,90			1000	
Life and Career Skills	Girl	245	40.16	7,03	3.47	417	001*	
Life and Gareer Skins	Boy	174	37.62	7,83			.001	
Information, Media, and	Girl	245	14.76	3,08	1.62	417	105	
Technology Skills	Boy	174	14.24	3,37			.105	
Total	Girl	245	99.82	16,98	3.96	417	001*	
Score	Boy	174	92.80	19,19			.001	

p<.05

When Table 2 is examined, it is seen that there is a significant difference in the 21stcentury skills scale scores of the children according to the Learning and Innovation Skills sub-dimension (t[419]=4,32; p<,05), Life and Career Skills sub-dimension (t[419]=3,47; p<,05) and total scale score (t[419]=3,96; p<,05) according to gender. In this context; it is seen that girls have higher learning and innovation skills [Girl (X: 44,90), boy (X: 40,93)], life and career skills [Girl (X: 40,16), boy (X: 37,62)], and 21st-century skills [Girl (X: 99,82), boy (X: 92,80)] according to the scale total score than boys. There was no significant gender difference in the Information, Media and Technology Skills subdimension of the scale (t[419]=1.62; p<.05). Table 3 presents the data expressing the relationship between children's 21st-century skills scores and the number of siblings.

Table 3

	Source of	Sum of		Mean of		
	Variance	Squares	sd	Squares	F	р
	Intergroup	175,025	4	43,756	,487	,746
Learning and Innovation Skills	Intragroup	37220,159	414	89,904		
	Total	37395,184	418			
	Intergroup	392,154	4	98,039	1,768	,134
Life and Career Skills	Intragroup	22962,796	414	55,466		
	Total	23354,950	418			
	Intergroup	67,601	4	16,900	1,646	,162
Information, Media and Technology Skills	Intragroup	4250,146	414	10,266		
	Total	4317,747	418			
Tracal	Intergroup	1542,306	4	385,576	1,160	,328
Score	Intragroup	137561,427	414	332,274		
	Total	139103,733	418			

ANOVA Results of 21st Century Skills Scale Scores According to Number of Siblings Variable

When the data in Table 3 are examined, no significant difference was found between the 21st-century skills scale scores according to the Learning and Innovation Skills subdimension (F=,487, p=<.05), Life and Career Skills sub-dimension (F= 1,768, p=<.05), Information, Media and Technology Skills sub-dimension (F= 1,646, p=<.05) and the total scale score (F= 1,160, p=<.05). Table 4 presents the data expressing the relationship between children's 21st-century skills scores and parental education level (mother).

#### Table 4

ANOVA	Results	of	21st	Century	Skills	Scale	Scores	According	to	Parental	(Mother)
Educati	on Level	Var	riable								

	Source of Variance	Sum of Squares	sd	Mean of Squares	F	р	Significant difference
Learning and	Intergroup	972,622	3	324,207	3,694	,012	3-1, 4-1
Innovation	Intragroup	36422,562	415	87,765			
SKIIIS	Total	37395,184	418				
	Intergroup	674,572	3	224,857	4,114	,007	3-1
Life and Career Skills	Intragroup	22680,378	415	54,652			
	Total	23354,950	418				
Information,	Intergroup	73,037	3	24,346	2,380	,069	
Media and Technology	Intragroup	4244,710	415	10,228			
Skills	Total	4317,747	418				
Total	Intergroup	4033,384	3	1344,461	4,131	,007	2-1, 3-1, 4-
Score	Intragroup	135070,349	415	325,471			T
	Total	139103,733	418				

When the ANOVA results in Table 4 are examined, no significant difference was found between mothers' education levels and children's 21st-century skills according to the Information, Media and Technology Skills sub-dimension of the 21st-century skills scale (F= 2,380, p=<.05). According to Learning and Innovation Skills sub-dimension (F= 3,694, p=<.05), Life and Career Skills sub-dimension (F= 4,114, p=<.05) and scale total score (F= 4,131, p=<.05), there was a significant difference between mothers' education levels and children's 21st-century skills. To determine the direction of the difference, Tukey Test was performed first, and LSD Test was performed to determine the direction of the data with a significance level close to p<.05 in more detail. In this context, a significant difference was found between high school graduates (X: 44,18) and primary school graduates (X: 40,82) in favor of university graduates in the Learning and Innovation Skills sub-dimension; between high school graduates (X: 40,97) and primary school graduates (X: 37,36) in favor of high school graduates in the Life and Career Skills sub-dimension.

In the total score of the scale, there was a significant difference in favor of university graduates (X: 98,91), high school graduates (X: 100,59), and secondary school graduates (X: 96,91) compared to primary school graduates (X: 92,06). In Table 5, the data expressing the relationship between children's 21st Century Skills Scores and parental education level (father) are presented.

#### Table 5

ANOVA Results of 21st Century Skills Scale Scores According to Parental (Father) Education Level Variable

	Source of Variance	Sum of Squares	sd	Mean of Squares	F	р	Significant difference
Learning and	Intergroup	926,395	3	308,798	3,514	,015	3-1, 4-1
Innovation	Intragroup	36468,789	415	87,877			
Skills	Total	37395,184	418				
	Intergroup	516,925	3	172,308	3,131	,026	4-1, 4-2
Life and Career Skills	Intragroup	22838,025	415	55,031			
	Total	23354,950	418				
Information,	Intergroup	43,438	3	14,479	1,406	,241	
Media and Technology	Intragroup	4274,309	415	10,300			
Skills	Total	4317,747	418				
Total	Intergroup	3313,408	3	1104,469	3,375	,018	4-1, 4-2
Score	Intragroup	135790,325	415	327,206			
	Total	139103,733	418				

When Table 5 is examined, it is seen that there is a significant difference in the Learning and Innovation Skills sub-dimension (F= 3,514, p=<.05), Life and Career Skills subdimension (F= 3,131, p=<.05) and total score of the scale (F= 3,375, p=<.05). According to the Tukey Tests conducted to determine the direction of the difference; in the Learning and Innovation Skills sub-dimension of the scale, the difference between high school graduates (X: 43,68) and primary school graduates (X: 40,19) in favor of high school graduates, between university graduates (X: 44,67) and primary school graduates (X: 40,19) in favor of university graduates; in the Life and Career Skills sub-dimension, university graduates (X: 40,51) between primary school graduates (X: 37,63) and secondary school graduates (X: 38,04) in favor of university graduates; and according to the scale total score, a significant difference was found between university graduates (X: 100, 03) and primary school graduates (X: 91,68) and secondary school graduates (X: 95,21) in favor of university graduates. Table 6 presents the data expressing the relationship between children's 21st Century Skills Scores and parental employment status (mother).

### Table 6

ANOVA Results of 21st Century Skills Scale Scores According to Parental (Mother) Employment Status Variable

	Source of	Sum of		Mean of		
	Variance	Squares	sd	Squares	F	р
_	Gruplararası	241,284	4	60,321	,672	,612
Learning and Innovation Skills	Gruplariçi	37153,900	414	89,744		
	Total	37395,184	418			
	Intergroup	162,740	4	40,685	,726	,574
Life and Career Skills	Intragroup	23192,209	414	56,020		
	Total	23354,950	418			
	Intergroup	13,578	4	3,394	,326	,860
Information, Media and Technology Skills	Intragroup	4304,169	414	10,397		
	Total	4317,747	418			
Total	Intergroup	799,298	4	199,824	,598	,664
Score	Intragroup	138304,435	414	334,069		
	Total	139103,733	418			

According to the data in Table 6, there was no significant difference between the 21st Century skills of the children and their mothers' employment status according to the Learning and Innovation Skills sub-dimension (F=,672, p=<.05), Life and Career Skills sub-dimension (F=,726, p=<.05), Information, Media and Technology Skills sub-dimension (F=,326, p=<.05) and Total Scores (F=,598, p=<.05). In Table 7, the data expressing the relationship between children's 21st Century Skills Scores and parental employment status (father) are presented.

Table 7.

ANOVA Results of 21st Century Skills Scores According to Parental (Father) Employment Status Variable

	Source of	Sum of		Mean of		
	Variance	Squares	sd	Squares	F	р
	Intergroup	271,849	4	67,962	,758	,553
Learning and Innovation Skills	Intragroup	37123,335	414	89,670		
	Total	37395,184	418			
	Intergroup	224,178	4	56,045	1,003	,406
Life and Career Skills	Intragroup	23130,772	414	55,871		
	Total	23354,950	418			
	Intergroup	43,231	4	10,808	1,047	,383
Information, Media and Technology Skills	Intragroup	4274,516	414	10,325		
	Total	4317,747	418			
Tetel	Intergroup	873,563	4	218,391	,654	,624
lotai	Intragroup	138230,169	414	333,889		
	Total	139103,733	418			

When the data in Table 7 are examined, no significant difference was found between the 21st Century skills of the children and their fathers' employment status according to the Learning and Innovation Skills sub-dimension (F=,758, p=<.05), Life and Career Skills sub-dimension (F= 1,003, p=<.05), Information, Media and Technology Skills sub-dimension (F= 1,047, p=<.05) and Total Scores (F=,654, p=<.05). In Table 8, the data expressing the relationship between children's 21st Century Skills Scores and family income level are presented.

Table 8.

ANOVA Results of 21st Century Skills Scores According to the Variable of Family Income Level

	Source of	Sum of	0.1	Mean of	D		Significant
	Variance	Squares	Sd	Squares	F	р	difference
Learning and	Intergroup	1029,530	4	257,383	2,930	,021	2-1, 5-1
Innovation	Intragroup	36365,654	414	87,840			
Skills	Total	37395,184	418				
	Intergroup	537,171	4	134,293	2,437	,047	2-1, 3-1, 4-
Life and Career Skills	Intragroup	22817,778	414	55,115			1, 5,1
	Total	23354,950	418				
Information,	Intergroup	59,875	4	14,969	1,455	,215	
Media and Technology	Intragroup	4257,872	414	10,285			
Skills	Total	4317,747	418				
Total	Intergroup	3851,286	4	962,821	2,947	,020	2-1, 3-1, 4-
I OTAI	Intragroup	135252,447	414	326,697			1, 5-1
50010	Total	139103,733	418				

When the data in Table 8 are examined, a significant difference was found between the 21st-century skills of the children and the sub-dimensions of the scale; Learning and Innovation Skills (F= 2,930, p=<.05), Life and Career Skills (F= 2,437, p=<.05) and total score of the scale (F= 2,947, p=<.05). According to the Tukey test conducted to determine the direction of the difference; in the Learning and Innovation Skills sub-dimension, a significant difference was found between the income level between 4001-6000 TL (X: 43,65) and the income level between 4001 TL and below (X: 39,92) in favor of those with an income level between 4001-6000 TL; between the income level of 10001 TL and above (X: 46,20) and the income level of 4000 TL and below (X: 39,92) in favor of those with an income level of 10001 TL and above.

In the Life and Career Skills sub-dimension, a Significant difference was found between the income level of 4001-6000 TL (X: 39,17) and the income level of 4000 TL and below (X: 36,60) in favor of those with an income level between 4001-6000 TL; between the income level of 6001-8000 TL (X: 39,70) and the income level of 4000 TL and below (X: 36,60) in favor of those with an income level between 6001-8000 TL; between the income level of 8001-10000 TL (X: 39,28) between those with an income level of 4000

TL and below (X: 36,60) in favor of those with an income level of 8001-10000 TL; between those with an income level of 10001 TL and above (X: 41,06) and those with an income level of 4000 TL and below (X: 36,60) in favor of those with an income level of 10001 TL and above.

According to the total score of the scale, there was a significant difference between the income level between 4001-6000 TL (X: 97,55) and 4000 TL and below (X: 90,26) in favor of those with an income level between 4001-6000 TL; between the income level between 6001-8000 TL (X: 97,25) and 4000 TL and below (X: 90,26) in favor of those with an income level between 6001-8000 TL; between the income level between 8001-10000 TL (X: 96,84) between those with an income level of 4000 TL and below (X: 90,26) and those with an income level of 8001-10000 TL in favor of those with an income level of 8001-10000 TL; Significant difference was found between those with an income level of 10001 TL and above (X: 102,39) and those with an income level of 4000 TL and above. In the Information, Media and Technology Skills sub-dimension of the scale, no significant difference was found between children's 21st-century skills and the income level of the family (F= 1,455, p=<.05).

### 4. RESULTS, DISCUSSIONS, AND SUGGESTIONS

The purpose of the study was to look at many characteristics in relation to the 21st century skills of children between the ages of 5 and 6. The information gathered for this purpose revealed that there was a considerable disparity in 21st-century skills depending on the children's gender, parental education, and family income levels. The number of siblings and parents' employement statues were shown to have no appreciable effect.

According to the study, girls' "Learning and Innovation Skills," "Life and Career Skills," and total scores were higher than they were when they were younger. A review of the literature revealed that studies with various age groups did not show any statistically significant gender differences (Dinler, Simsar, & Yalçn, 2021; Elci, 2021; Gurultu, Aslan, & Alci, 2020; Perdana et al., 2021; Uyar & Cicek, 2021). In their study of the seventh-grade students' 21st-century talents, Rogayan et al. (2021) discovered that female students had greater scores than male students. In a similar vein, Gulen (2013) and Karakas (2015) reported that girls had higher levels of 21st-century skills than boys in their studies with middle school pupils. Since gender is not the only factor that determines 21st-century skills, it can be argued that varied results have been found in the research.

The results of the study revealed that the learning and innovation skills, life and career skills, and total scores of the parents' education levels of the children were different, favoring those with higher education levels. This outcome is consistent with those of Dinler et al. and Elci (2021). (2021). According to Ozturk and Sanl (2007), moms with

poor levels of education have a tendency to raise their kids in an authoritarian and overprotective manner, which makes it challenging for the kids to learn life skills. Children's growth is significantly influenced by their inherited traits, parenting philosophy, and parental support for their schooling (Ardila et al., 2005; Berk, 2007; Santrock, 2013; Tunceli & Zembat, 2018; Yavuz, 2016). Parental education level is crucial for children's growth in many areas, including 21st-century abilities, as indicated in the literature.

In the study, it was observed that children's family income levels differed in "Learning and Innovation Skills", "Life and Career Skills" and total scores in favor of those with higher income. It has also been revealed in studies that the income level of the family is related to all developmental areas of children (Aslanargun et al., 2016; Comlekciogulları, 2020; Dinler et al., 2021; Elci, 2021; Ozdemir- Ozden et al., 2018; Taner & Basal, 2005; Tunceli & Zembat, 2018; Yavuz, 2016). The family in which the child lives and the socioeconomic structure of the house in which the child grows up have a direct impact on many issues from nutrition to education. Since children growing up in families with middle and upper-income levels are more likely to have a rich stimulating environment at home, access better educational opportunities, and benefit more intensively from parental support, it can be said that children will have more opportunities to acquire many skills and behaviors, especially 21st-century skills. Gobena (2018) stated that equal opportunity can only be provided if governments minimize income inequality as much as possible by regulating economic policies, supporting socioeconomically disadvantaged families in this respect, and including children in preschool education.

As a result, it was discovered that 5 to 6 year old preschool students' 21st century competencies varied depending on demographic factors. It is impossible to think about the child in a way that is independent of his or her environment, just like in Bronfenbrenner's ecological theory. When combined with the strength of the child's inherited traits and temperament, the ecological environment—a complex network of interconnected systems with the child at its center—directly influences "who" and "how" the child will be as an individual. The ability to generate and affect change rather than merely consume is a quality that people who are raised with 21st-century skills develop. They also know how to use technology effectively. Because of these abilities, people will thrive in life and be able to survive any crisis that arises.

Research on 21st-century abilities with preschoolers is quite scarce, as indicated in this report. It can be said that researchers who are interested in this topic will contribute significantly to the literature by concentrating on the issues of expanding the number of measurement tools for early childhood children's 21st-century skills, carrying out indepth evaluations by combining different methods, and developing programs to acquire these skills.

#### References

- Alkoç, N. (2020). *Relational examination of preschool teacher candidates' 21st-century learning skills and critical thinking tendencies*. [Master Thesis]. Kafkas University Instution of Social Sciences, Kars.
- Ardila, A., Rosselli, M., Matute, E. & Guajardo, S. (2005). The influence of the parents' educational level on the development of executive functions. *Developmental Neuropsychology.*, 28(1), 539-560.
- Aslanargun, E., Bozkurt, S., & Sarioglu, S. (2016). The impacts of socioeconomic variables on the academic success of the students. *Usak University Journal of Social Sciences*, 9(3), 214-234.
- Berk, L. (2006). Child development. (7th Ed.). Illinois: Pearson Education Inc.
- Büyüköztürk, Ş., Kılıç-Çakmak, E., Akgün, Ö. E., Karadeniz, Ş. & Demirel, F. (2022). *Scientific research methods in education*. Ankara: Pegem Akademi.
- Cansoy, R. (2018). 21st century skills according to international frameworks and building them in the education system. *Journal of the Human and Social Science Research*, 7(4), 3112-3134.
- Care, E., Kim, H., Vista, A., & Anderson, K. (2018). Education System Alignment for 21st Century Skills: Focus on Assessment. *Center for Universal Education at The Brookings Institution*. https://files.eric.ed.gov/fulltext/ED592779.pdf.
- Castells, M. (2010). *The rise of the network society. The Information age: Economy, society, and culture.* Volume 1. (2. ed). Oxford, UK: Wiley-Blackwell.
- Çetin, M., & Çetin, G. (2021). A Critical outlook on MoNE early childhood education curriculum in terms of 21st century skills. *Journal of Education for Life*, *35*(1), 235-255.
- Çömlekcioğulları, A. (2020). *The relationship between student achievement and family's socioeconomic levels.* [Non-thesis master degree]. Pamukkale University, Denizli.
- Costin, C., & Pontual, T. (2020). Curriculum reform in Brazil to develop skills for the twentyfirst century. In *Audacious Education Purposes* (pp. 47-64). Springer, Cham.
- Dinler, Simsar & Yalçın. (2021). Examining 21st Century Skills of 3-6 Years Old Children in Terms of Some Variables. *e-Kafkas Journal of Educational Research*, 8, 281-303. doi: 10.30900/kafkasegt.941467.
- Eğmir, E., & Çengelci, S. (2020). The predictive power of teachers' 21st century teaching skills on applying reflective thinking skills. *Journal of History School*, 13(45), 1045-1077.

- Elçi, S. (2021). Examining the relationship between 21st century skills and competition styles of preschool children. [Master Thesis]. İnönü University. Instution of Educational Sciences. Malatya.
- Gobena, G. A. (2018). Family socio-economic status effect on students' academic achievement at college of education and behavioral sciences, Haramaya University, Eastern Ethiopia. *Journal of Teacher Education and Educators*, 7(3), 207-222.
- González-Pérez, L. I., & Ramírez-Montoya, M. S. (2022). Components of education 4.0 in 21st century skills frameworks: systematic review. *Sustainability*, *14*(3), 1493.
- Gülen, Ş. B. (2013). 21st century learner skills and level of support from information and communication technologies: An investigation of middle school students based on grade level and gender. [Master Thesis]. Gazi University. Instution of Educational Sciences. Ankara.
- Günay Manavoğlu, A. (2022). *21st-Century skills that preschool teachers try to bring their students.* [Non-Thesis Master Degree]. Pamukkale University. Instution of Educational Sciences. Denizli.
- Güngör, D. (2021). Examining the relationship between self-regulation skills and 21st century skills of 5 and 6 year old children attending pre-school education institutions'. [Master Thesis]. Üsküdar University. Instution of Health Sciences. İstanbul.
- Gürültü, E., Aslan, M., & Alcı, B. (2020). Secondary school teachers' competencies in the use of 21st century skills. *Hacettepe University Education Faculty Journal*, *35*(4), 780-798.
- Helm, J. H., & Katz, L. G. (2001). *Young investigators: The project approach in the early years*. New York, NY: Teachers College Press.
- Karakaş, M, M. (2015). Investigation of the eight grade secondary school students' levels of 21st century skills in science education. [Master Thesis]. Eskişehir Osmangazi University. Instution of Educational Sciences. Eskişehir.
- Karasar, N. (2021). *Scientific research method concepts principles techniques.* Ankara: Nobel Akademi.
- Koçin, B., & Tuğluk, M. N. (2020). Analysis of 2013 preschool education program in terms of 21st century skills. *Ulakbilge, 49*, 621-649.
- Merritt, D. L., & Buboltz, W. (2015). Academic success in college: Socioeconomic status and parental influence as predictors of outcome. *Open Journal of Social Sciences*, *3*(5), 127-135.

Ministry of National Education. (2013). Preschool education program. Ankara.

- Özdemir-Özden, D., Karakuş-Tayşi, E., Kılıç-Şahin, H., Demir-Kaya, S., & Bayram, F. Ö. (2018). Pre-service teachers' perceived efficacy beliefs towards the 21st century skills: the case of Kütahya. *Electronic Turkish Studies*, *13*(27), 1163-1184. (S32).
- Öztürk, C., & Şanlı, D. (2007). An analysis of the effects of mothers' educational status on their parental attitudes. Ege Pediatrics Bulletin, *14*(3), 145-150.
- P21-A Network of Battelle for Kids (2019). *21st century skills early learning framework*. http://static.battelleforkids.org/documents/p21/P21EarlyChildhoodFramework.pdf.
- Perdana, R., Apriani, A. N., Richardo, R., Rochaendi, E., & Kusuma, C. (2021). Elementary students' attitudes towards stem and 21st-century skills. *International Journal of Evaluation and Research in Education*, 10(3), 1080-1088.
- Ramey, M. D.(2016). 21st Century teaching and learning. Young Children, 71(3), 6-7.
- Ramírez-Montoya, M.S., Álvarez-Icaza, I., Sanabria-Zepeda, J.C., López-Caudana, E.O., Alonso, P.E., & Miranda, J. (2021). Scaling complex thinking for everyone through open science: a conceptual methodological framework. *In Proceedings of the 9th International Conference on Technological Ecosystems for Enhancing Multiculturality TEEM21*, Barcelona, Spain, 26–29 October 2021; University of Barcelona: Barcelona, Spain, 2021; pp. 806–811.
- Rogayan, D. V. Gallardo, C. B., Lacaste, J. T., & Roque, D. J, A. (2021). 21st-century skills of social studies students: basis for a proposed training program. *International Journal of Multidisciplinary: Applied Business and Education Research*, 2(2), 131–141. doi: 10.11594/ijmaber.02.02.08Research.
- Santrock, J.W. (2013). Life-span development. (13th Edition). NewYork: McGraw Hill.
- Taner, M., & Başal, A. (2005). Compare language development in first grade primary school students from different socioeconomic levels who take and do not take pre-school education according to the gender. *Uludağ University Education Faculty Journal*, 18(2), 395-420.
- Tuğluk, M. N., & Altın, G. (2018). Leadership and responsibility. Eds. Öğretir-Özçelik, A. D. & Tuğluk, M. N. in *21st century skills in education and industry*. Ankara: Pegem Akademi.
- Tuğluk, M. N. & Özkan, B. (2019) Analysis of MoNE 2013 preschool education program in terms of 21st century skills. *Journal of Primary Education*, 1(4), 29-38.
- Tunçeli, H.İ., & Zembat, R. (2017). The importance and assessment of early childhood development. *The Journal of Education Theory and Practical Research*, 3(3), 1-12.
- Tunçeli, H.İ., & Zembat, R. (2018). The investigation of 48-72 months children's development in terms of various variables by LAP-3 development assessment scale. *Abant İzzet Baysal University Education Faculty Journal*, 18(4), 2321-2356.

- Uyar, A. & Çiçek, B. (2021). 21st century skills of different field teachers. *IBAD Journal of Social Sciences*, 9, 1-11.
- Voogt, J. & Roblin, N. P. (2010). 21st century skills discussion paper. University of Twente. https://www.voced.edu.au/content/ngv:56611.
- Yalçın, V., Simsar, A. & Dinler, H. (2020). 21st century skills scale for children 5-6 years (day-2): validity and reliability study. *Mediterranean Journal of Educational Research*, 14(32), 78-97. doi: 10.29329/mjer.2020.258.5.
- Yavuz, E. A. (2016). Reliability and validity study of application of cognitive functions scale and analysis od cognitive functions of 48-66 months-old children. [Doctoral Thesis].
  Marmara University Instution of Educational Sciences. İstanbul.

Ethical approval was obtained from Sakarya University Rectorate Educational Research and Publication Ethics Committee with decision number 04/03 and dated 09.02.2022.

### Statement of Contribution of Researchers to the Article:

The authors contributed equally to the manuscript.

### **Conflict of Interest Statement**

There is no conflict of interest.

### Statement of Financial Support or Acknowledgment:

No financial support was received from any institution for this study. No Acknowledgment.